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Provisional Answers (Master Set) 02-02-2025

A TS T TR 1 i e R R 2
T O AUTITE Ieqrel 1 fee (fheem) it Seasia

What is the primary function of the nephrons in the human kidneys ?
Filtration and excretion of waste products from the blood

“Freh”” ol TorE TehT TR foharm ST @ 2
T T A ATEAT RIVTRTSAT T THE

A “tissue” is defined as :
A group of cells performing a similar function

T T T HI-HT T G To SFoeTisia a1 3@ o foTe STardt 8 2
AITATHRR ATARTE

Which part of the human ear is responsible for maintaining balance and equilibrium ?
Semicircular canals

HI-ET Fdeh JohR IR T TAg ol GohdT & 2

IURAT ek (Yraefiferast feva)
Which tissue type covers the body surface ?
Epithelial tissue

Frafafed o & FH-81 ITWEATEEE (e 3R sRifas™ (hieriets) & st dey &1 aa 3131 auH
FATT ?
TRITEATIARAT (TTETHY) ATl UX &1 shisd ohal &, Safeh IRt (Frferaettett) st ©
AT hisd AT 2 |
Which of the following best describes the relationship between anatomy and physiology ?
Anatomy focuses on structures, while physiology focuses on functions.

TR O o foTg, Sk SUehioT & ;
dréRie

Apparatus used for optical rotation is :
Polarimeter

TS T hI-HT (RIS 9T HFre STRY il o o1 T S17eT 3ea et @ 2
foeRaet A (SA ATE)

Which specific part of the heart generates the electrical impulses for initiating contraction ?
Sinoatrial node (SA node)

-1 A SR (ferrifen) s arett greafymt & Ufee fhemicd W wrenfa st argel sl steaeg T & 2

Which protein blocks myosin binding sites on actin filaments in resting muscles ?
Tropomyosin

T % Searsft o H -8 It T R 2
BIEY i

The excretory system of human beings does not include :
Small Intestine
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10.

hehTet Ul Sl Tkt 3RS T R 2
AT

The contractile unit of a skeletal muscle is :
Sarcomere

11.

BT 3V HITRTeRT o STITHE o1l G o & H H HAT @ 2
Lcini]

Which molecule acts as the primary energy currency of the cell ?
ATP

12.

SIS T o Torg T B 5T % IrreieRor o foru fu anfed Biar @ 2
Zalisw (Tgui)

In which part of the gastrointestinal tract is bile secreted for emulsification of fats ?
Duodenum

13.

TTreRTeT (TSR o =T 3T WISt STaroT (3fter) =t qreifires i ST & 2
i foreRT STaT Hemers Y Tt SgET

What is the primary function of the myelin sheath around axons ?
Increase the speed of nerve impulse conduction

14.

ST H -6t RITRTRTE Teh oAl o6 T i T i oh e q eI ot &7 il & 2
UEWT SRITITRTE

Which cells in the pancreas secrete glucagon to regulate blood glucose levels ?
Alpha cells

15.

e TfeT el Rua et g 2
Tt o FW

The adrenal glands are located :
On top of the kidneys

16.

S, THR T JOTTAT 6 HTHR e TS (7)o IR o (T e &9 9 fohe Fefsh <Aa01 i1 Hehel [ ST 2 2
W w R

Which tissue salt is primarily indicated for the treatment of acute inflammation according to Dr.
Schuessler’s system ?
Ferrum phosphoricum

17.

aﬁqgmw (TTee) YU & 8 GAST Heehi hl SATRSIGET (<) T THYT i o fora 3wt fomam
ST 2
SR AT T TTeRT

Which tissue salt is traditionally used to support the elasticity of connective tissues ?
Calcarea fluorica

18.

I ! HIS oh TTT shi-HY AUt STER § 2
e STt

Which muscle is responsible for flexing the elbow ?
Biceps brachii

19.

frfafiad 3 @ w-ar Sl & 9o fsidl § 8 T 7T © 2
Afereraw =t

Which of the following is not one of the fundamental principles of homeopathy ?
Law of Maximum
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20.

BNl & STk T ST § ST SR 39 & Torgia o wenfua foram |
Hyuer i ftaforar Rafufoea st

is known as the father of homeopathy and he established it based on the principle of

Samuel Hahnemann; Similia Similibus Curentur

21.

. eI T FerferedT ot fof R STraTia & 2
T TehTHe Rrgia

Dr. Schuessler’s system of medicine is based on :
Biochemic principles

22,

fraferfaa & & -3 21T % ST=m () & fam o fewan 2 2
FUR O e Y 31T ST=R

Which of the following is part of Hering’s Law of Cure ?
Cure from above downwards

23.

TR =0T o ESHHOT H T WHIEWhIERH i T et & 2
TN 3T FAT (IN) Y HH HIAT &

What is the role of Ferrum phosphoricum in early-stage infections ?
Reduces fever and inflammation

24,

7. S8 o Fod Uget ereateeh fgiar o1 attetor ford geret & fomam 2
e A ot

The homoeopathic principles were first tested by Dr. Hahnemann using which substance ?
Cinchona bark

25.

frfeTRad o & 191 YR & THE Hash qdv § o Th 781 © 2
hfceoTaw BTgel

Which of the following is not one of the twelve Schuessler Tissue Salts ?
Calcium Hydroxide

26.

fewerfie el § afom g 2 2
awe g

Histamine is secreted from :
Mast cells

27.

31 | TeAfTRad H 9 I8 STETHIT e 0 U9 o EhH0T (TEISTS) hT Eedl Ao Foh & 2

Which of the following abnormal constituents in urine is most indicative of a urinary tract infection
(UTDH ?
Nitrites

28.

“grfafesh $e (WYHES UTe) foherehT JaTetr @ 2
e fizfr

“Diabetic foot” is an example of :
Wet Gangrene

29.

ToroTeh wraTelt & G BT e STET oAt Skt STfsharstl # shia-1 3T o Her (e et gin @ ?
Tehq FaTTEeRT @ (Futes feen)

Which organ system is most commonly involved in adverse reactions to homoeopathic remedies prepared
from toxic substances ?
Hepatic system

BQ2

*3 % MASTER SET




30.

“Uftrg BT W ot IUANT forres e o fore fomam straT 2 2
UTSeh A IET

“Acid fast staining” is used for the diagnosis of :
Mycobacterium

31.

frefeTRad # & -1 greadferer gared, St STferd sk § ST foRaT STt &, f AR # STrfeh forsrehar st
AEI0T YT B Tehdl & ?
ATH RN Tead

Which of the following homoeopathic substances, when used improperly, may lead to symptoms
resembling arsenic poisoning in patients ?
Arsenicum album

32,

-8 I8 e 1 o N, oI I ATIAAT b Fereroarat aireft i Sifsharm o1 S sl & 2
aﬁ%&vnﬁ%mmwﬁvﬁu)

Which term describes the physiological response characterized by inflammation, swelling and redness of]
the middle ear ?
Otitis media

33.

ma%iﬁmﬁw%awmwéﬁﬁ?

Acute Arsenic poisoning presents with symptoms similar to :
Cholera

34.

T TorsTeRa st forRisr & 2
uaﬁu’rsmﬁmm(gmﬁ%guﬁW)

Dhatura poisoning is characterized. by :
Dilated pupils

35.

< AT T AT T foRdt ToraTeRa # <@ Siar @ 2
HTAT HATFATSS

Cherry Red colour of blood is seen in poisoning with :
Carbon Monoxide

36.

BrRITATSrR ST (WSS daR 3 1 (A cTRad 3 & -8 77 fHgid @ 2
TR TTHT (STEEATH) SR TTELTEAIA

Which of the followmg is the main principle in the preparation of homoeopathic remedies ?
Serial dilution and potentization

37.

9T o AT § SRITUTI GaTsat dR i o To1q, Ford TETIT-eh TTshaT 31 START FoRaT ST & 2
T (fEgaeeT)

Which chemical process is used to prepare homoeopathic medicines from plant sources ?
Triturations

38.

Freafaftaa o @ m-an yeref srendelt 1 siwfer (<)) & w9 1§ 39 78t fFar At e 2
FTSE I URTHATSS

Which of the following substances is #ot used in homoeopathy as a remedy ?
Hydrogen peroxide
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39.

STEt ST H Here STTereh ST Rt ST STeAT HIE SiH-81 8 ?
A

Which medium is most commonly used in external applications ?
Paraffin

40.

frefaftaa & @ a1 wrefies sttt eearast & Sit v | Srrnafees gamsti o gshishtor st =i sean
27
BIFRATU TR WTHTRITUET ST $iEar (HPI)

Which of the following is the primary official document that governs the standardization of homeopathic
medicines in India ?
Homoeopathic Pharmacopoeia of India (HPI)

41.

BRI SITel SIS o FoTe ST AT o et # fmforfiad o fomm =hifsm
I "W I el
1L de
39 7 & a1 v 22 2
I, 1T 3R 111
Consider the following regarding the common base for homoeopathic external applications :
I. Wax II. Vaseline
II. Oil
Which of the above is/are correct ?
I, IT and III

42.

HHT T ST S (Feftems dfex) dum i o forg - Sfsra e @ 2
AT rrEae (Riuer fefReavm)

Which process is essential for preparing distilled water in a pharmacy ?
Simple distillation

43.

TIFRITATSIE, 34T oh! AT METOIRad | § fohdeh §a¥ H eh i ST & 2
TIAST Tehe (X) AR WA Thet (C)

The potency of a homoeopathic medicine is expressed in terms of which of the following ?
Decimal scale (X) and centesimal scale (C)

44.

T 37 o Tt A B wfifeen yomeft 7 uftafda s v, v site o o o srer drar g 2

28.35aH
When converting the imperial measurement of an ounce to the metric system, how many grams does one
ounce correspond to ?

28.35 grams

45.

SHI-Ht Breafoes Sfiwfer () TR 9T “Tehifaed Juerer” Te o o Y STt @ 2
TehHTEE

Which homoeopathic remedy is typically prepared from the plant “Aconitum napellus” ?
Aconite
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46.

Teh TG GIHE! H Sel 1@ ol Tfieh &l e @ 2
Gieft o THAT S TR HTAT

What is the primary role of an herbarium in an ideal pharmacy ?
Preserving plant specimens

47.

RT3 T (trituration) 3 ToTT IF-TT STHRTOT ST TohaT STTAT & 2
IR qaS

Which instrument is used for the trituration of drugs ?
Mortar and pestle

48.

= 3 e feg e © |

FYT [ . iufer it Jskfousn foram weht urfires foram o fafir= Siforasat (31merT) it Serfouss R @ |

o 11 :  ErFATATereR SR i i Jehfoush 3R F SR AT R |

3TYH AT o AT H, A g 7T foreredt # & e 39k 3T T :

HYT [ T B, AT HUT [T 2 |

Given below are two statements.

Statement I : Alternating action of medicine is the alternating state of various paroxysms of its primary
action.

Statement Il : Homoeopathic cure takes place during alternating action of medicine.
In the light of the above statements, choose the most appropriate answer from the options given below :

Statement I is true, but Statement II is false.

49.

FAffad ® & -1 ST docied JaT 3t o [oTq ST fordT ST © 2
e

Which of the following is used to prepare homoeopathic tablets ?
Lactose

50.

HTHwer Thet 1, Tael TICHT i ST hl 8l T shleh qaR foham STTaT @ 2
1 9T 3ituter, 99 T aATEe §

In the centesimal scale, the first potency is prepared by diluting the drug :
1 part drug to 99 parts vehicle

51.

TITHTOT TATE FRTeAT SHTRISRAT H STIRIT SHTAA1aTl shi T HH © ?
Fiamet Tameea TTer TaT e SR AU S Taeed Hatel & [gAT

What is the role of ASHA workers in rural health education programmes ?
Providing basic health education and linking communities to health services

52.

STHT-STAT ST 3 STTER Fefafad & & -a1 smefies w@reed S@wTe 1 9es T8 € 2
T (TeaiEe) TRiher gEaeT

Which of the following is not a component of primary healthcare as per the Alma-Ata Declaration ?
Advanced surgical interventions

53.

TTETRIE BIHET H, “THehlfo STee™ 3l 379 2 :
mﬁﬁaﬁmaﬁﬁwﬁrmaﬁwﬁmmaﬁﬁﬁém

In a community pharmacy, “pharmacovigilance” refers to :
Monitoring the safety of medicines and reporting adverse effects
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54. TSI RA ATSHT 5 ST “TATE Td FHeToT har” 1 T L0 18 2
Trames gareTt afed T Ut TATEed SEHTe YETH AT
What is the main purpose of “Health and Wellness Centers” under the Ayushman Bharat Yojana ?
Delivering comprehensive primary healthcare, including preventive services
55. freferfaa o & Fi-a1 A= T=Erid SshAvT (STI) ® 2
fafefera (sudm)
Which of the following is a sexually transmitted infection (STI) ?
Syphilis
56.  hI-81 RRATESII (foreshAoT) qlieht WIS (HTS5hIeT) ohl AT o foTT 3%t ATIHT ohT SURATT LT 8 2
W (AI3EE) R 976k AT (TT3 §ie) TeRarg=om (Rreismmom)
What type of sterilization method uses high temperatures to kill microbes ?
Moist and dry heat sterilization
57.  UfcReIoT HRISHAT  “Hhicg o e T qread 2 -
ek SR GTUAT SATY T@ ok foT ara-Fafe i siwer (39)
The term “cold chain” in immunization programmes refers to :
A temperature-controlled supply chain to maintain vaccine potency
58.  SHEiReTehRT =5 o foret aTawet § a1 31 3=a gy A A & 2
Iou fRer arawen
Which phase in the demographic cycle is characterized by high birth and high death rates ?
High stationary stage
59, frefciRad ® @ siF-a Tmdt i ale © 2
TIAFEIHT
Which of the following is a permanent method of contraception ?
Tubectomy
60. THIN-TT I8 ISt FRT TN (ZATHES) TN o foTT ST BIaT & 2
qATEeh (AFe) AT T
What is the term used for diseases transmitted by insects ?
Vector-borne diseases
61. T=faiRaa § & sH-a1/dt T sl 78T © 2
LHiE)
Which of the following is not an inventory ?
Machines
62. VA STt oh AT Y AT Sa HeRT o (7T Hed &9 -8 WIS FSfHar 2 2
AT ZTEhT
Which pathogen is primarily responsible for Enteric Fever transmission via contaminated water ?
Salmonella typhi
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63.

SIS C HR C1 i 1 Gaw forsht o g 3meia o STmawesh B TR 2
19

Form number required for application of Schedule C and C1 drugs for retail sale is :
19

64.

fforfiaa o & sH-a1 stfafrem g 3 weriiss et & dere i Rt #ars ?
Ffvefer ue waTe wTE i, 1940

Which of the following acts regulates the operation of community pharmacies in India ?
Drugs and Cosmetics Act, 1940

65.

feaet shiem her o o wefy § fFrfofed w fomm fifs -
T ST o ToAT sleh @ Frentedt 78 Fohel fewrg arft
I e ST (T ) o a1 gell |
. ad UHS & (T o) o Sl (A1) war
II. I UHS ST (T o) o shiS (STHT) 9&T
zqﬁ?sﬁﬁ@'—rm/ﬁHﬁ%%?

HAA |

Consider the following regarding triple column cash book :
Cash withdrawn from bank for office use will appear on

I.  Both sides of cash book
II.  Debit side of cash book only

III. Credit side of the cash book only
Which of the above is/are correct ?
Only I

66.

ST S AT e TS :

The first computer virus is called :
Creeper

67.

ALU (a&iﬁﬁemﬁsﬁaﬁz)wmﬁesww% ?
TUTAT 3R ATfhe T RETd T

What is the primary function of the ALU (Arithmetic Logic Unit) ?
Performing calculations and logical operations

68.

HYFT (4) : SSDs, HDDs T T H dsT ST T (Tg) W dl ¢ |

FRU(R):  SSDs FAT HHILT T IWANT S &, STaifeh HDDs Fifieh ST (Hehf-ehet red) W et g € |
ATRAT (A) TR HROT (R) ST AL T A BT (R), AR (A) sl Tt sqmear |

Assertion (A) : SSDs provide faster data access compared to HDDs.
Reason (R) : SSDs use flash memory, while HDDs rely on mechanical parts.

Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of

Assertion (A).

BQ2
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69. TATTRET Hearsh TR 2T 3k Ie3al § U HITVT :
TR EGAe
a. TRBX i. dTE-TE ShallsT SETdT &
b. fa= i, IYSHTUT ShT SR HT 2
c. Hiew iii. fefSea famat =t aftafda sar 2
d. TRIGUES  iv. 2aeh ¢ftheh ohl (RITd AT &
a—iv,b—ii,c—iii,d—i
Match the following network devices with their purposes :
Device Purpose
a. Router L. Extends Wi-Fi coverage
b. Switch ii.  Connects devices
¢. Modem iii.  Converts digital signals
d. Access Point iv. Directs network traffic
a—iv, b—ii, c—iii,d —i
70, et e o1 o ST fis SR & e i

TR

]

a  foseg @ Yeicen i S e Y Y TR AT S

b.  TSWH (AES)
C. ﬁaaﬁﬁré
d. Ui

ii.  TETRAT o SATIR X e USI bl 1ok AT &
iii. ST I FRCAAAE WIS AT &
iv. T H HeE BT UY el @

a—iv,b—i, c—iii,d—1i

Match the following algorithms with their primary purposes :

Algorithm

a. Dijkstra’s
Algorithm

b. AES
¢. Quick Sort
d. PageRank

ii.

iil.

1v.

Purpose

Encrypts data securely

Ranks web pages based on relevance
Efficiently sorts data

Finds the shortest path in a graph

a—iv,b—i, c—iii, d —ii

BQ2
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71.

FfcTRad BTgeR 31 1 ITh! TICATITSAT & e it -
GIE 370F TR

a. FAEHIK i, e o foTg 221 ol ke T ©

b. fefRiT i, ST o FTT yTweh $He Tl @

c. AT iii. HlETE FTYE Foa FLAT &

d. DDoS iv. T 9T 2fheh U SRS &1 ST ®

a—i,b-ii, c —iii,d —iv
Match the following cyberattacks with their definitions :

Cyberattack Definition

Ransomware i.  Encrypts data for ransom

IS

Phishing ii. Sends deceptive emails to steal data

o

Keylogging iii. Captures keyboard inputs

&~

DDoS iv. Overloads servers with traffic

a—i,b-ii, ¢ —iii,d —iv

72.

Teh ShUHT 79 HHE o oTU Tk HHITCITe ST Teh ATSshibiaest SATfchedra o e o of W& & | hiH-4r

FHYT T STTBT TATAT © foh T I UL LGRS o foTe ATgsha st shl SerfiehdT It < ST dehell € 2
ATSShIT O, BaTelt ht T TohferT shi Saafd Fdt 2 |

A company is deciding between a monolithic and a microservices architecture for their software. Which

statement best explains why microservices might be preferred for a large-scale application ?
Microservices allow independent scaling of services.

73.

DNS & R ¥ fFafeifad § § e w9 € 2
EXRUR R

Which of the following statements about DNS is true ?
None of the above

74.

USTEe UH S o 7T Hed & & foher ST ST 61 ST fora ST € 2
EaCicE

Which programming language is primarily used for creating Android apps ?
Kotlin

75.

NTFS I @1 # FAT32 %1ga foreew o1 fafe foroar i @ 2
T o 3 AT JgaR STeheTar (Frutefaterdt)

What is the distinctive feature of the FAT32 file system as compared to NTFS ?
Better compatibility with older systems

76.

THTE FE H B ST SiTe WIeH T ITohe T 7 2
Ctrl + Shift + F

What is the shortcut to open font dialog box in MS Word ?
Ctrl + Shift + F

BQ2
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77.  Tr=fcfaa o @ Si9-91 G2C (TR & ATHE) STa-d TaT T Ush 3STe0 & 2
HATTATS ST WIS (eTT
Which of the following is an example of a G2C (Government to Citizen) e-Governance service ?
Online tax filing

78. I AT H, FeE I I 1 1 & ?
Teh STEUY TZH Y Heaeh 3R gree wrt & i et 2
In computer networks, what is the function of a subnet mask ?

Divides an IP address into network and host parts

79. T HHN % AN H FFTTRId H 8 -8 U g © 2

. FUIMAW AT
2. e AR forereh TR (AT T8 ) o oI ST ST foRT ST aTer 2T SR EITeieT SR ® |
3. %7 HORY shae HIUY o STeX fEurd 2 Hed ¢ |
4. I U AE-AREd Bl R |
132

Which of the following statements about cache memory are true ?
1.  Cache memory is faster than RAM.
2. Cache memory stores frequently used data for quick access.
3. Cache memory can only be located outside the CPU.
4.  Cache memory is non-volatile.

1 and 2

80. WA o aN H FAfaRad § 8 -8 FeH aeg 8 2
1. IIETS dhadd SHeRiHT ¢ftheh shl AT S § |
2. TRE SAHTUESS THH (ST U5 ) i sciish i dhd ¢ |
3. AT ¥t TR o TIEeR 372 s Uk Tk ¢ |
4.  WHIEETA TSI T HHCITI Bl Tohd © |
2 3R 4
Which of the following statements about firewalls are true ?
1.  Firewalls only monitor incoming traffic.
2.  Firewalls can block unauthorized access.
3. Firewalls can prevent all types of cyberattacks.
4

Firewalls can be hardware or software.
2 and 4

81. TR Wid MR T A hl TS b SATETSIE § Fal AN FohT TT 2
@S

The capital of ‘United Provinces of Agra and Oudh’ was shifted from Allahabad to :
Lucknow

82. TrmfTiaa # & M-8 SISt 7re7d Hferd € 2
TER — TREQ

Which of the following pairs is incorrectly matched ?
Kharwar — Gorakhpur
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83. freforfad & & vt Siet wg=nfic -
e - s
Identify the correct pair from the following :
Nirala — Anamika

84. gﬂtmﬁ%aﬁmﬁﬁéﬁaﬂwaﬁawéﬂ?ﬁ%%ﬁm%ﬁ@aﬁw i forsteft €= § € T
?
BIELE

Which district in Uttar Pradesh is home to the Obra Thermal Power Station, one of the major coal-fired
power plants in the state ?

Sonbhadra
85. frferRaa = e it :
Tefl-1 efI-1I
a. HTET T TEiehied i. 1864
b. THYL TS ATgsi ii. 1889
c. VR Wa TEqehrerd iii. 1774
d. SCATETSTE qfscteh TTgsit iv. 1914

a—iv,b—iii,c—ii,d—i
Match the following :
List-I List-II

a. Saraswati Bhawan Library 1. 1864
b. Rampur Raza Library ii. 1889
c. Bharti Bhavan Library ii. 1774
d. Allahabad Public Library iv. 1914

a—iv, b —iii, ¢ — ii, d — i
86. T=fciRaa # ¥ Baar-v-STgiert &1 i@ I = ?
fEpIECCRSECi)

Who among the following is the author of Fatawa-i-Jahandari ?
Ziauddin Barani

87. INTHARTATH (UPSRLM) + ok Ngwer the o ded Tael/aadt & 3Rierd gesi o fo1g Ea)
BIECIERET IR

2250

The UPSRLM has made a provision of for the vulnerable members of the SC/ST under the
Risk Redressal Fund.

2250
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88.

I TITAAT ST T T8 AT Frei TR o Tarcoran SO H weaqul S[{eh TS I I ewT o fosm
ISR

qEed G
Identify the freedom fighter who played a pivotal role in India’s struggle for freedom and belonged to
Bijnor district of Uttar Pradesh.

Bakht Khan

89.

Torer wifert o I o FefoTRa shert o fommR hifs
1. % Afeer aefereRr & foTe Uk TEa § |
2. SEH YU, T, SATH-CET, TRTen 7R i forerre w 10-feaw e e i e © |
3. S 2024 H IRA FoRaT TRIT AT |
4. IE AEAT U o1 farehre famT gry denfetd 2 |
5. 38 60-foE - USTIR hivTer 3 TR1afor e 2 |
e & e o W B
GiC
Consider the following statements regarding Mission Shakti :
1. Itis an initiative aimed at empowering women.
2. It includes a 10-day combined programme on °‘Safety, Security, Self-Defence, Training and
Entrepreneurship Development™’.
3. It was launched in 2024.
4. Itis run by the Department of Women and Child Development.
5. Itincludes a 60-day Self-Employment Skill Oriented Training.
How many of the above statements are correct ?
Three

90.

IR T T A 2022 % STHR FETHRA Hiohe o S 3T aTet T aTed forshed 6l v shifsr |
Identify the alternative with places that come under the Mahabharata circuit as per the Uttar Pradesh
Tourism Policy 2022.

Mathura, Gonda, Prayagraj, Kaushambi

91.

I TR FATRER STE TIT=HToT Ua RIfeferdt A1, 2022 3 T8d Sl IafeaT aTed @e aret SUsIhTat
YEH S ST STell THHTd Sicared URT Sf S HamT (Th-%aedl) TrTd i , ST srfershan
T &1, 9 feuet 7 |

15%; % 5,000
The one-time incentive provided to consumers purchasing electric two wheelers under the Uttar Pradesh
Electric Vehicle Manufacturing and Mobility Policy, 2022 is a purchase subsidy of of ex-
factory cost, up to per vehicle.

15%; % 5,000

92,

BT B H, AT Tdl = I T2 o Fohd ITet # Ue A1S foeh” AN o1 ST foram 2
TITRTS

Recently, the Indian Railways organised a “Paint My City” campaign in which city of Uttar Pradesh ?
Prayagraj

BQ2
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93.

I e T TG 1 T AT Aok o L G A9 T o8 TR Siorehi o o &iW bl Eferd
A |

ThAT
The dance form of Uttar Pradesh involves a female dancer balancing a column of lighted
deepaks (oil lamps) over her head while dancing.

Charkula

94.

TETd S T IEAT |
U | O RS T

Identify the incorrectly matched pair.
None of the above

9s.

AT 5 IR TR & TSAHAT WIS hi et T 2
U W O S T

The total number of Rajya Sabha seats from Uttar Pradesh at present is :
None of the above

96.

ST o HThI A AT A1 HeT FHFH’ hi e o TTet H feharm 2
[SACEED

The Uttar Pradesh government inaugurated the ‘Atal Yuva Maha Kumbh’ in which city ?
Lucknow

97.

ST 3ht EHTE freferiad ® & fore T3 § e & 2
gierom

Shamli shares its boundaries with which of the following states ?
Haryana

98.

FiiuaSseHT (UPSWC) T SIThid ST a1 8 ?
%, 3R T TR G §w ®9 ¥ Tafera

What is the governing structure of UPSWC ?
Jointly managed by the Central and State Governments

99.

SUMAT-2011 % FTHR, I T hT Fed SHEEAT H AT HT Acrwret o :
47-71%

As per the Census-2011, the percentage of women in the total population in Uttar Pradesh was :
47-71%

100.

ST S oh/3h g, Gt-2oT Tk /T RrenT 2/ |
A AT
was a famous thumri-tappa singer of the Benaras Gharana.
Rasoolan Bai
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